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Calculations with 3 integers

Calculate 

-12   x   4   x  -12  =   

 15   +  -4   x  -10  =   

 12   +   7   x  -12  =   -12   x   2   x  -11  =   

-20   x  -4   x  -12  =   -25   x   4   +  -12  =   

-72   x  -2   +  -52  =   -12   +   4   -  -12  =   

-20   x  -5   x     9   =   -16   x   2   x  -10  =   

-15   x   3   -   -12  =    11   x   2   +  -12  =   

 12    -   4   x    19  =   -14   +   4   +  -12  =   

-19   x  -3   -   -99  =   -12   x   5   x  -12  =   

-15   +   4   x  -12  =    12   +  -6   x  -24  =   

-14   -    9   x  -12  =   -12   x   3   x  -16  =   

 20   +   8   x  -10  =   -15   x  -3   +  99  =   
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Answers

Calculate 

-12   x   4   x  -12  =   576

 15   +  -4   x  -10  =      55

 12   +   7   x  -12  =     -72 -12   x   2   x  -11  =   264

-20   x  -4   x  -12  =   -960 -25   x   4   +  -12  =   -112

-72   x  -2   +  -52  =     92 -12   +   4   -  -12  =       4

-20   x  -5   x     9   =   900 -16   x   2   x  -10  =   320

-15   x   3   -   -12  =    -33  11   x   2   +  -12  =     10

 12    -   4   x    19  =    -64 -14   +   4   +  -12  =    -22

-19   x  -3   -   -99  =   156 -12   x   5   x  -12  =   720

-15   +   4   x  -12  =    -63  12   +  -6   x  -24  =   156

-14   -    9   x  -12  =     94 -12   x   3   x  -16  =   576

 20   +   8   x  -10  =    -60 -15   x  -3   +  99  =   144


